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PART—I / wri—I
CHILD DEVELOPMENT AND PEDAGOGY / @l Tt afr fen -y

Directions : Answer the following questions | 749 : et wel % 39 & 5 fere wrét/«

by selecting the correct/most appropriate | 3ugw @1 _ﬂﬁ“.l
options.

1. Which of the following is the most
effective  method to encourage

conceptual development in
students?
(1) Give students multiple

examples and encourage them
to use reasoning,.

(2) Use punishment till students
have made the required
conceptual changes.

(3) New concepts need to be
understood on their own
without any reference to the old
ones.

(4) Replace the students’ incorrect
ideas with correct ones by
asking them to memorize,

2. Primary schoolchildren will learn
most effectively in an atmosphere :

(1) where the focus and stress are
only on mastering primarily
cognitive skills of reading,
writing and mathematics

(2) where the teacher leads all the
learning and expects students
to play a passive role

(3) where their emotional needs are
met and they feel that they are
valued

(4) where the teacher is authorita-
tive and clearly dictates what
should be done
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3.

A child sces a crow flying past the

window and says, “A bird.,” What

does this suggest about the child's
thinking?

A. The child has previously stored
memories.

B. The child has developed the
concept of a ‘bird’.

C. The child has developed some
tqols of language to commu-
nicate her experience.

(1) A, Band C

(2) Only B

(3) A and B

(4) B and C

What should a teacher tell her
students to encourage them to do
tasks with intrinsic motivation?

(1) “Complete the task fast and get
a toffee.”

(2) “Try to do it, you will learn.”

(3) “Come on, finish it before she
does.”

(4) “Why can’t you be like him? See,
he has done it perfectly.”

How can a teacher encourage

her students to be intrinsically

motivated towards learning for the
sake of learning?

(1) By supporting them in setting
individual goals and their
mastery

(2) By offering tangible rewards
such as toffees

(3) By inducing anxiety and fear

(4) By giving competitive tests

In an elementary classroom, an

effective teacher should aim at the

students to be motivated :

(1) by using punitive measures so
that they respect the teacher

(2) to perform so that they get good
marks in the end of the year
examination

(3) to learn so that they become
curious and love learning for its
own sake

(4) to rote memorize so that they
become good at recall
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7. Which of the following is an example
of effective school practice?
(1) Individualized learning
(2) Competitive classroom
(3) Constant comparative evalua-
tion
(4) Corporal punishment

8. The cephalocaudal principle of
development explains how develop-
ment proceeds from :

(1) head to toe

(2) rural to urban areas

(3) general to specific functions

(4) differentiated to  integrated
functions

9. Which of the following is a sensitive
period pertaining to language
development?

(1) Adulthood

(2) Early childhood period
{3) Prenatal period

(4) Middle childhood period

10. A 6-year-old girl shows exceptional
sporting ability. Both of her parents
are sportspersons, send her for
coaching everyday and train her
on weekends. Her capabilities are
most likely to be the result of an
interaction between :

(1) health and training

(2) discipline and nutrition
(3) heredity and environment
(4) growth and development

11. Which of the following are secondary
agents of socialization?

(1) School and immediate family
members

(2) Family and relatives

(3) Family and neighbourhood

(4) School and neighbourhood
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12. According to Lev Vygotsky,
primary cause of
development is :

(1)
(2)
3)
(4)

the
cognitive

adjustment of mental schemas
stimulus-response pairing
equilibration

social interaction

13. In the context of Kohlberg's stages of

moral reasoning, under which stage

would the given typical response of a
child fall?

“Your parents will be proud of you

if you are honest. So you should
be honest.”

(1)
(2)
(3)

Good girl-good boy orientation
Law and order orientation
Punishment-obedience orienta-
tion

(4) Social contract orientation

14. According to Jean Piaget, which of
the following is necessary for
learning?

(1)
(2)

Belief in immanent justice
Reinforcement by teachers and
parents

Active  exploration  of
environment by the learner

(3) the

(4) Observing the behaviour

adults

of

15. According to Jean Piaget, schema
building occurs as a result of
modifying new information to fit
existing schemes and by modifying
old schemes as per new information.
These two processes are known as :

(1)

equilibration and modification

(2) assimilation and accommoda-
tion

(3) accommodation and adaptation

(4) assimilation and adaptation
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16.

17.

18.

In a progressive classroom setup,
the teacher facilitates learning by
providing an environment that :

(1) discourages inclusion
(2) encourages repetition
(3) promotes discovery

(4) is restrictive

Howaﬁrd Gardner’s theory of Multiple
Intelligence (MI) suggests that :

(1) teachers should use MI as a
framework for devising
alternative ways to teach the
subject matter

(2) ability is destiny and does not
change over a period of time

(3) every child should be taught
every subject in eight different
ways in order to develop all of
the intelligences

(4) intelligence is solely determined
by IQ tests

A 5-year-old girl talks to herself
while trying to fold a T-shirt. Which
of the following statements is
correct in the context of the
behaviour displayed by the girl?

(1) Jean Piaget would explain this
as social interaction, while Lev
Vygotsky would explain this as
an exploration.

(2) Jean Piaget and Lev Vygotsky
would explain this as the child’s
attempt to imitate her mother.

(3) Jean Piaget and Lev Vygotsky
would explain this as egocentric
nature of the child’s thoughts.

(4) Jean Piaget would explain this
as egocentric speech, while Lev
Vygotsky would explain this as
the child’s attempt to regulate
her actions through private
speech.
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19.

20.

21.

22.

23.

‘Gender’ is a/an :

(1) innate quality

(2) social construct

(3) biological entity

(4) physiological construct

As a teacher, who firmly believes
in social constructivist theory of
Lev Vygotsky, which of the following

methods would you prefer for
assessing your students?

(1) Fact-based recall questions

(2) Objective multiple-choice type
questions

(3) Collaborative projects

(4) Standardized tests

To cater to individual differences in

his classroom, a teacher should :

(1) engage in a dialogue with
students and value their
perspectives

(2) impose strict rules upon his
students

(3) have wuniform and standard
ways of teaching and assess-
ment

(4) segregate and label children
based on their marks

Assessment is purposeful if :
(1) it is done only once at the end
of the year

(2) comparative evaluations are
made to differentiate between
the students’ achievements

(3) it induces fear and stress
among the students

(4) it serves as a feedback for the
students as well as the teachers

According to NCF, 2005, the role of a
teacher has to be :

(1) permissive
(2) facilitative
(3) authoritative
(4) dictatorial
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28. Which of the following is a
characteristic of a gifted learner?

(1) He is highly temperamental.

(2) He engages in ritualistic
behaviour like hand flapping,
rocking, etc.

(3) He gets agpgressive and
frustrated.

(4) He can feel understimulated
and bored if the class activities
are not challenging enough.

29, A teacher can enhance effective

learning in her elementary
classroom by :

(1) encouraging competition
amongst her students

(2) connecting the content to the
lives of the students

(3) offering rewards for small steps
in learning

(4) drill and practice

30. Which of the following statements

about children are correct?

A. Children are passive recipients
of knowledge.

Children are problem solvers.

C. Children are scientific investi-
gators.

D. Children are active explorers of
the environment.

(1) A, B, CandD
(2) A, Band C
(3) A, Band D
(4) B, C and D

P-1/EE*

Scanned by CamScanner

8. Tfaflas % ¥ Im-dt fagma ufsmam

Toeneff < 37

(1) =& 9ga & gIhisis gl 8|

(2) 98 H HAER WAl ¥ S9—ad
AU, Brer e |

(3) T@ ATHHH 3N FHia A swan B

(4) 3l wan K ket s ghdg
w2 AN T A R

. s T sl wafrs wen 7o

A =1 = TR ©

(1) s fEnfEr % sl
PICIES SR

(2) Frwrasg 1 faenfdal % S & @
Hefird b

(3) wfrm # FEA-TE IwmtEE F Ty
QU T

(4) Teo 3in s1=mg & g

. w= % A A At O | ¥ aE-a

w27

A, = s % SR s €
B. ¥ WHEN HHIMEEG] ¢

C. o= I el ¢

D. o= Tl % WA S B
(1) A, B, C3D

(2) A, B2RC

(3) A, B3RD

4) B, C3RD

[ P.T.O.



ﬁmn FERINDIA

PART—II / wr—I1I
MATHEMATICS / TrfoTd

Directions : Answer the following questions
by selecting the correct/most appropriate
options.

31. A teacher of Class Il asks her

students to write 4 ones and 3 tens.
Some students write as 43 instead
of 34, As a teacher, how will you
help the students in understanding

the concept?

(1) Give a lot of questions to
practise in column method,

Ask the students to represent

(2)
on abacus and then write.

Tell them it is wrong and ask
them to write the correct answer

S times.
Always teach by column method
of tens and ones to avoid
confusion.

(3)

(4)

32. Which of the following statements

is mot true about ‘mapping’ in

mathematics?

(1) Mapping promotes proportional
reasoning.

(2) Mapping is not part
mathematics curriculum.

of

(3) Mapping can be integrated in
many topics of mathematics.
spatial

(4) Mapping strengthens

thinking.

31.

32.
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33. Which of the following aspects of
‘shapes’ is not dealt with at primary
level?

(1) Angle
(2) Symmetry
(3) Tessellation
(4) Pattern
34. The mathematical games and
puzzles help in :

A. developing a positive attitude
towards mathematics

B. making connection between
mathematics and  everyday
thinking

C. making mathematics enjoyable

D. promoting problem-solving
skills

Select the correct option.
(1) A B,CandD

(2) Aand B

(3) Aand D

4) A, Band C

mﬂﬁiﬂilﬂﬂlﬂ

33. ‘ongRrEl ¥ Frefafad wege {8 B
i T A B da R

(1) =
(2) wwfHfd
(3) T3

(4) wfoEa (Be)

34, T @a AR deferl wee oA @ -

A hm ¥ AR e ek w
feerfr 0 T

B, @ sk shRA % fEm A e
it @ |

c. Tt M AFREES g §

D. THOT-GWYH % HEE @ Wt
Excl|

T foen @1 = i)
(1) A, B,C3RD
(2) ARB

(3) AWD

(4) A, B3RC

SPACE FOR ROUGH WORK / T% F® % fog wve

P-1/EE*
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35. A

36.

given rectangle and a
parallelogram have the same area.
However, many Class IV students
respond that the parallelogram has
a larger area. How can a teacher
help the students to understand
that their areas are the same?

(1) Using scale
(2) Using a geoboard
(3) Using a graph paper

(4) Using paper folding

Which of the following is not an
objective of teaching mathematics
at primary level according to NCF,
2005?

(1) Making mathematics part of
child’s life experiences

(2) Promoting problem-solving and
problem-posing skills

(3) Promoting logical thinking

(4) Preparing for learning higher
and abstract mathematics

&}IIBEEHIHIIIH

s i THE-EPE
S e T 3, g IV % o

36.

arfifdi 3 Im fea & @wa-wgs
g;xaalﬁéﬁ'b foreep, fanfefat @t o
ayeR 1 fira gR GEEA X OHHA1 2 fy

31 % e @ &7

(1) ¥ W @

(2) T & wam &

(3) @ (aT%) YR F WE

(4) 0T HrSA & FE

urETEl # FR@ (o He Tho),
;r?{?sﬂimgmmuﬁﬁﬁmwvﬁmﬁm
1 3t Frefeifaa # @ F-a1 78 27

(1) @ F 7= K Feft & st =
9T =

(2) FHEA-FHIE SR T wegd 1 F
FRI FI Srearied s

(3) wHETA forart # Wrewfg won

(4) Wﬁmﬁmm#kmqméﬁm
BT

P-1/EE*
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37.

Scanned by CamScanner

The difference between the place | 37. 29503 # 5 % wwrig AR @M 32071 #
value of 5 in 29503 and the face 7% dAfFa A et R
value of 7 in 32071 is :
(1) 493 (1) 493
@ 2 @ 3
(3) 43 (3) 43
(4) 430 (4) 430

38. If 30028 = 28 ones + 28 thousands | 38, If@ 30028 = 28 THE + 28 TN
+_____tens, then the number in the e, 99 T WA W e R
blank space is :
(1) 280 (1) 280
(@ 28 (2) 28
(3) 128 (3) 128
(4) 200 (4) 200
SPACE FOR ROUGH WORK / 16 &M & fu sme
P-1/EE* 13
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g ¥ 9 T w
ogos8 # 10 b
39. Whﬁl'l the remainder obtained on 39. 54 8 1 90909 M 109 & wm ¥ W
dividing 80808 by 108 is divided by ’i'”;wﬁ' e SR, wE gy
the remainder obtained on dividing
90909 by 109, then the quotient is : ?:
(1) 12 (1) 12
(2) 3 (2 3
(3) 6 (3) ©
@) 8 4) 8
40. If 603x28=63x4x . then | 40, uR 603x28=63%x4X » T T
the number in the blank space is : o T G R
(1) 67 (1) 67
) @l (2) 21
(3) 28 (3) 28
(4) 63 (4) 63

41. (The smallest common multiple of i
41. (200 3fT 400 % =T ¥ 30, 45 71 60

4 d 400
30, 45 and 60 between 200 an ) .- 38 fﬂ"ﬁ') + (15, 24 @

+ (The largest common factor of 15,
24 and 45) is equal to : 45 1 TR 931 U@ PHES) TR ¢

(1) 180 (1) 180
(2) 60 2) 60
(3) 90 (3) 90
4) 120 (4) 120
SPACE FOR ROUGH WORK / Th FH % fere svm
P-1/EE* 14
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42.

43.

A number is smaller than half of one
hundred and lies between 4 tens
and S tens. Ones digit is one less
than tens digit. If the sum of digits is

7, then the product of the digits in
the number is :

(1) 24

(2 12

(3) 16

(4) 20

In a school, there are 360 students
out of which two-thirds are girls and
the rest are boys. Three-fourths of
the number of boys are players.
The number of boys who are not
players is :

42.

43.

TF T W F I ¥ o R o 4 e
AT 5 @R F A= A ) qHF THE H I®
TR F 37 A G HH 2| AR dEewn A 7w
1A 7 B, A 3T B AR B

(1) 24

(2) 12

@3) 16

(4) 20

frft fremem § 360 foendi 2 R @
|-foerd sl € ik S oo €)1 o=
# wEm F H-DuE e 2 oS
Taend 71 &, I TeHi M FEn B

Scanned by CamScanner

(1) 75
(1) 75
i, (2) 25
@) 30 (3) 30
(4) 60 (4) 60
SPACE FOR ROUGH WORK / % %M % Rt wg
P-1/EE* | P10
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553 & i)
W e T 1
44. Harish bought a scooter for 8,076 - e # 2 W ush
¥49,553. He paid ¥8,076 in cash 1 37 wH et B
and agreed to pay the remaining mwﬁlﬁ% :
amount in 37 equal instalments. i
What is the amount of each
instalment?
(1) ®1,339
() 71,021
(2) #1,021
(3) ¥1,121
(3) ¥1,121
(4) 1,201
(4) #1,201
_ WE ¥R ¥ PHFAR Wy
45. A train left Hyderabad at 13 : 15 on s ﬁ 15mﬁﬂ3ﬁﬂﬁaﬂﬂ?fﬁ‘ﬁﬁm
Friday and reached Bengaluru at lg#f o7 :
07 : 30 on Saturday. The duration of 07 : 30 W | B R T
the journey was :
(1) 19 = 45 fire
(1) 19 hours 45 minutes
e 35 fime
(2) 5 hours 35 minutes & S 35
(3) 12 hours 45 minutes (3) 12 %2 45 fime
(4) 18 hours 15 minutes (4) 18 &2 15 fie

SPACE FOR ROUGH WORK / T% % % v s=

P-I/EE* %
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46. The number of minutes in 15 daysis | 46. 15 i # Rl R g aum rh=ia

equal to the number of seconds in : o dhel A e F7
(1) 8 hours (1) 8%
(2) 4 hours (2) 4%
(3) 5 hours (3) 5He
(4) 6 hours (@) 6

47. 15 litres 286 millilitres of orange | 47 Wt ¥ 15 o 286 RRTAx SE H

juice is mixed with 19 litres

714 millilitres of carrot juice. Wﬁ % 19 ;ﬁa '%4 Iﬁ'mg = 9 8
12 litres 750 millilitres of the Sl @1 T A 12 #fi
mixture is used and the rest is 750 faferefiz S VT H S ? 3R
filled in bottles each containing 9y ! diacdl # WU A1 @ TR TAF A
250 millilitres. The number of # 250 fufereflx @ s ®) dwet 6
bottles is : = R

(1) 77 (1) 77

(2) 89 (2) 89

(3) 85 (3) 85

(4) 81 (4) 81

SPACE FOR ROUGH WORK / 1% ¥ & fou wme

P-1/EE* 17 [ PT.0. -
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48. The prices of fruits per kg are given

below : e #1850
Watermelon : € 18:50 . . 12060
Cherry . €72 o* #78-40
Gra;lac . 12060 aa ;
Apple . 7840
e 3 4} g T 8 200 3,
Reshma bought 41 kg watermelon, 250 g K 3t 12 kg ¥ | 3w
1 kg 200 g cherries, 250 g grapes R @ €500 F w A R
and I% kg apples. She gave a m—?{@aﬁa fra?
¥ 500 note to the shopkeeper. How
much did sh t back?
e get bac (1) €173
(1) ¥173 2) €162
2) F162 3) €163
(3) F163 w €172
(4) ¥172

49, 9EA H; TH R &1 sEw
7 ecm X 5 om X 25 cm
2 @ A B, fd emwtE m
56 em x 044 m x 025 m

49. The size of a soap cake
is 7 em x 5 cm x 2:5 cm. The
maximum number of soap cakes

which can be packed into two boxes o B Pt h Aftan = ¥

each having internal measurements £ TEA R

as 56 cm x 0°4 m x 025 m is :

(1) 2560 (1) 2560

(2) 640 (2) 640

(3) 960 (3) 960

(4) 1280 (4) 1280

SPACE FOR ROUGH WORK / W %M ¥ fou s -

P-1/EE* 18
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50. The length of a rectangle is three | 50. e A < T=Tg 3w e 1 o 7
times its breadth. The breadth is 21 7l <her wF of R o = e R,
half the side of a square whose forgs ufmm™ 72 cm 21 99 ¢
perimeter is 72 cm. Then :

(1) the perimeter of the rectangle is (1) ma =1 9itam, o % i @ @9 2
less than the perimeter of the
square (2) = 3R mE A F dIwe wuar
(2) the areas of the square and
rectangle are equal (3) MG H A%, @ F FPA A
(3) the area of the rectangle is more e &
than the area of the square
(4) the perimeters of both rectangle (4) 3mFa MR = A1 F aRwmy e §
and square are equal

51. Which one of the following is not | 51, Fr=fufad & ¥ F5-w1 ad 78 7
correct?

(1) The volume of a cuboid of length (1) Tt v o e, R e
45 cm, breadth 15 cm and 45 cm, ¥9¥ 15 cm 3R =
height 40 cm is equal to the 40 cm B, TR } IW W F @A
go:;ume of a cube whose side is ¥ P =1 03 m B

3 In

(2) One hundredth of 10 is equal (2) 10 & @™ = 0-1
to 01

(3) 55 litres 55 millilitres (3) 55 wfi 55 Mfwefiex = 55:55 wfiex

= 55'55 litres

(4) 2005 grams = 2:005 kg (4) 2005 7™ = 2:005 kg

52. Which of the following is an
essential prerequisite to understand 52. A-37FY & H @ wE-EE W
multiplication of a two-digit number A-36" g QA ™ A H Wi W
by a one-digit or a two-digit i ¥ R feffes § 8 2R-d Eel
HOmbste SRR 21 AT &7
(1) Commutative property of

multiplication (1) TR =1 wwiafig o

(2) Multiplication as distribution
over addition (2) M, I R ao & vy F

(3) Multiplication as inverse of
division (3) M, favrse % wivdm % w9

(4) Commutative property of
addition (4) A = wwfafm o

SPACE FOR ROUGH WORK / % %M & fyu we
P-1/EE* 19
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enfia B SiR AR w9
$3. Which of the following cannot be | 53. g&wﬂﬁﬁmqﬁg

considered as a reason for fear and

failure in mathematics? i w7
(1) Symbolic notations (1) seftepred derd
(2) Structure of mathematics ) forg & WA
(3) Gender differences (3) i W2
(4) Classroom experiences (4) FE-E ¥ Ve
54. Which of the following teaching- ) .
learning resources would be the | 54, @ TWHed wemal % T ;ﬁﬁ'lm“ ;E_I 1 F
most appropriate to teach the e ¥ I Frefafaa . 31ftpm
concept of addition of two decimal 7 FH-T1 GEA Al Tﬂﬁ?ﬁ‘%.
numbers? ‘
_ (1) Tt 3 AT
(1) Beads and string
2) UF IR
(2) Graph paper (@)
(3) Abacus (3) frama
(4) Geoboard (4) TrEr
SPACE FOR ROUGH WORK / 1% ®1™ % foru wime
P-1/EE* 20
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55. The majority of Class IV learners
think that multiplication of two
numbers always results in a number
which is bigger than both the
numbers. How will you show that it
is always not the case?

(1) By showing it through repeated
addition of numbers

(2) By showing the multiplication
algorithm of two decimal
numbers :

(3) By showing on a grid paper the

multiplication of two decimal

numbers

(4) By showing the multiplication

algorithm of one whole number

and a fraction on a number line

55. F& IV F e Rraefi At & 75 2
el % e A W wem wa an
e @ W@ A }) o A AR wehia
w0 % a7 a¥a ww ol fa 37

(1) ¥ F&Ndf F sr-am am F W
weitfa =

2) A wWHEE Femslt ¥ PR N
wHer-Tai # welia o

3) e IR W 3 wwweE dEemsti % E
1 wefia

Fh

56. W wx ® Rt # a’ # wed

56. Which of the following statements
is true in the context of teaching wer ¥ e frefafen § & #F-w FF
‘measurement’ to primary class koo i
students?
(1) Non-standard measures should (1) ;ﬁ{ﬁﬁ% Tt o 3w ST
be followed by standard R FHET TR
measures.
(2) ¥a@ AYWIVE HE H ST HA
(2) Only non-standard measures ,
should be used. ey
(3) Non-standard measures should (3) IWHINE WH A T wE
not be used. i)
4) Standard measures should be
- followed by  non-standard (4) :S‘WW HTGH ST I IO
measures. T HET MY
SPACE FOR ROUGH WORK / T %M % forg s
.T.O.
P-1/EE* 21 [ B.T
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57. Which of the following assessment foo afve sl B FERE T ¥ Ry
strategies can be used to ma'ke frefafaa #F @ e oA A Eo
connections of mathematics with 7 o ST A 27

real life and promote inter-
disciplinarity?

(1) Survey, project, checklist
(2) Field trip, oral test, checklist
(3) Field trip, survey, project
(4) Field trip, oral test, drill @ PO afgs T, %ﬂ

worksheet

58. Which of the following can be used

_as learning resources for visua_.lly ss. "W ¥ He-FE # ﬁm % %\Q
i athematics .
s | P & @ PR S R %
¥ wq # o w0 g 87
(1) Number chart, computer,
R (1) g =, R, e
(2) Taylor’s abacus, computer,
geoboard (2) e 1 frew, SR, ReE
(3) g;rgop;l:gr, number  chart, (31 e o T, Sri

(4) Taylor's abacus, fraction Kit, 4) T = fimaw, fm w0 e, @@
number chart e

E—

SPACE FOR ROUGH WORK / 1% ™ & ffu we

P-1/EE* 22
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59.

60.

In the context of ‘numbers’, primary
class children, i.e., the children in
age group 8-9 years, are able to
accomplish which one of the
following sects?

(1) Seriation, reversibility, propor-
tional reasoning

(2) Seriation, classification, propor-
tional reasoning

(38) Seriation, classification, revers-
ibility

(4) Classification, reversibility, pro-
portional reasoning

A teacher of Class I asks a student
to count the total number of objects
in a collection of pens, erasers and
sharpners. The student puts all the
objects in a line and starts counting,
He says that there are 2 pens, 5
erasers and 3 sharpners instead of
10 objects. In which principle/
principles of counting do you think
that the student is facing difficulty?

(1) Stable order and abstraction

principles
(2) Onec-to-one correspondence
principle

(3) Abstraction principle

(4) Abstraction and order

irrelevance principles

59.

60.

wemsl & wed W widfiw wen & a=
i & T fre emg af 8-9 = 2,
Frafafea # & frm ageaa & weior £7

(1) ftrarea, sfoecta, smmfes fEe
(2) ferergan, e, smgufies foaem
(3) Hftrasa, affero, uftacda

(4) =fieR, wfewi, smmfoes fEm

Fer 1 % T g 3 o fendi 0 wh
aegait 1 o FA & fo e, T T,
e 3 TR F1 wug on) faenedi 3 @
Fegail w1 U @ 8§ @ R A gE Hl)
IE 10 TG F A WFE H 29, 5
e 3t 3 wd B 1 omuek foEm | foenefi
# o F e fera/f e w
HISATE 1 THAT HEAT U8 T 87

(1) f@r #m 3R erpda R
(2) TeReht T g
(3) @ e

(4) TR 3R FETa W fag

SPACE FOR ROUGH WORK / 16 &M % foiu s

P-1/EE*
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Q‘Ill’ EEDINDIA

PART—III / sm—II i
ENVIRONMENTAL STUDIES / wataror AT

Directions : Answer the following questions

by selecting the correct/most appropriate
options.

61. In the EVS syllabus, structured

62.

P-1/EE*

around six themes, ‘plants’ and
‘animals’ have consciously been
included in the theme : ‘Family and
Friends’. All of the following could be
cited as reasons for this inclusion,
except one. Which one is that?

(1) To help students to locate
plants and animals in a social
and cultural context

(2) To highlight how humans share

a close relationship with each
other

(3) To highlight how lives and
livelihoods of some communities
are closely connected with
specific animals or plants

(4) To enable students to
understand plants and animals
from a science perspective

The purpose of ‘survey’ in
teaching-learning of EVS is :

A. to provide an opportunity to
interact with community

B. to make children sensitive to
different people

C. to provide an opportunity to
collect information first-hand

D. to use it as an opportunity for
assessment

Which of the above are correct?
(1) A, B,Cand D

(2) A,Band C

(3) A, Band D

(4 A,Cand D

Scanned by CamScanner
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A ¥ TH HRO W
ﬁ%%gqmﬁwﬁmﬁlaﬁw
HRO P-4 87

gregfas wed &

(1) amﬁ%m qg;aﬂma; o fftn a4
frenffat =t ETEdT ST

- 2 B e A

(3) 3@ @ A IR 6 B TR g8

wgerl % Sfiaw 3ft srshfaend fady
gedt an dreit @ ufe w1 IR 7

@) Tt # fEm % g ¥ b
afit aygedt = gueE A WEH I

62. qafar eEE & Rgor-siftrm § ‘wdao’
F R L :

A TREE ¥ W™ AAGEI H EE
e T

B. ==t @l faftm <l ¥ wfy w3gta
T

C. Y H TI4 W HW 1 G TIH
A

D. 3¢ & Th W F ® § g
ITAT HEA

IGE A D-Y wd &7
(1) A,B,C3RD
(2) A, BaRC

(3) A, B3 D

4) A, c3RrD

24



Q‘ﬂl! EERIMNDIA

Directions : Q. Nos. 63 to 65 are based on | 39 : W Ho 63 A 65 Frfifas smam W

the following paragraph. anarfa &1

Gi\_rlzn a.rcaﬂrcsp(:l:;scs of 7-8 years old e g0 weRifa w wR 3 gl saed el IgF

epcriment done by e observed a1 | qmiian g S 3 i 3 Y & e 7.8 26 %

exper y the teacher, in whic ¥ )

water in a bowl is heated and it has v ER‘I T 3?1’{,‘?:'{[ S

evaporated : “t":ﬁ ™ B .

“Water has disappeared.” ,.ﬁ; ;‘g%ﬁﬂ‘
“The bowl has absorbed the water.” « Y o 1%4!]11 "
“The fire drank the water.”
“God drank the water.”
63. ¥ IW =l M FF FER F AR F w0

63. What do these responses tell us EGIGRS]
about children and their thinking? =
(1) F:hildren s responses are (1) == % I R
@) glljglcal' (2) ==t W= e R

ildren’s thinking is incorrect.
(3) Children cannot make a good (3) T I T W
aherystion. (4) aefiFor F AR F Tt b fewed
(4) Children have alternate ideas %
; feam 21
about evaporation.

64. How should the teacher deal with | g4, fivgs 1 34 IT0 & GWAT FFE TR &

these responses? =fge?

1) Show the standard water cycle

( chart. (1) rerEss 1 T A = SRR F:

(2) Give  the dgﬁni‘i"l’: ﬂ;’f (2) arefiereor b aftare § afv a3
evaporation an as &
children to memorize it. TR F o R

(3) Initiate a discussion to revisit (3) % foamt @& o t@aﬁ F forw
their ideas. RS |

(4) Tell the children that they are
wrong, (4) == F 7@ & B A e )

65. Which of the following is an example | ¢t fygy w o=t € ffy @ =
of a question assessing divergent AR 2
thinking of children on the topic, T I?Rel:[m a7 AR
‘evaporation’? T T TR T bl o
(1) What will happen if there is no (1) 0 B AR e B @ @7

water cycle?
(2) List the steps in sequence of (2) TerEh % HH < WA R g R
water cycle. (3) s H ARG &Y 3R W Aifta
(3) Draw and label water cycle. $fm)
(4) Write five advantages of water
cycle. (4) St & gia @ fafln)
P-1/EE* 25 [ P.T.O.
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66. Which of the following are the

ncighbouring states of Jammu &
Kashmir?

(1)

(2)

Himachal

Pradesh

3)

(4)

Himachal Pradesh, Punjab

Pradesh, Uttar

Uttarakhand, Rajasthan

Himachal Pradesh, Uttarakhand

67. Match each of the locations with
correct description of common
houses built in that area :

Locations Houses
(a) Manali (i) Elevated houses
made on bamboo
pillars
(b) Rajasthan (i) Houses made of
stones/wood  with
slanting roofs

(c) Assam (iii) Houseboats

(d) Ladakh (iv) Mud houses having

roofs made of thorny
bushes
(v) Houses made of
stones with wooden
floor and wooden
ceiling
(1) a b c d
ii v i iv
2 a b c d
ii iv i v
(3) a b c d
ii v i v
4) a b c d
iv i ii iii
P-1/EE*
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e @ -8 T T AR

66. %q@mmi?
(1) Wgﬁs‘l,m
(o) feer 52, IR
(3) IIEE, T ™
(4) %‘Hﬂﬁ!ﬁ%m
o7 :Tq]ﬁ o ¥ wd e # fem
Hf
w
T
(a) maTed () atg % el ma IR
o
(b) e (i) TR W R ¥ A e
Tl G T
(c) zram (i) FEER
(d) wera (iv) frdt 3 o o wd S
Zfeat A o adl &
(v) veeR F 79 W SEE o
i 3 @ i 7 Fl
2
Ma b ¢ d
i v i iv
2 a b ¢ d
il v 1 v
(3) a b c d
iii iv i v
(4) a b c d
v 1 1i iii



68.

69.

70.

71.

The different patterns on the skin of
animals are !

(1) an indication of their physical
strength

due to the reflected light
due to the hair on their skin

due to the weather conditions
they live in

“Pecople who have been living in the
forest for at least 25 years have a
right to the forestland and what is
grown on it.” This is mandated by :

(1)
(2)
(3)
(4)

the Indian Forest Act, 1927
the Right to Forest Act, 2007
the Land Acquisition Act, 1894

(Scheduled
(Amendment)

the Constitution
Castes) Orders
Bill, 2012

Which of the following is a set of
diseases spread by mosquitoes?
(1) Malaria, HIV-AIDS, Dengue
(2) HIV-AIDS, Cholera, Dengue
(3) Dengue, Malaria, Chikungunya
(4) Typhoid, Cholera, Chikungunya

Pitcher plant (Nepenthes) :
(1) is not found in India

cleverly traps and ecats frogs,
insects and mice

emits sounds of high pitch to
attract insects

(2)

(3)

has mouth covered with tiny
hooks

(4)

P-1/EE*
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68. T H1 e w fafan 4zd (feomem)

69.

70.

71.

(1) = wfifer ofe 1 3 =3 &
(2) TrEfda yFm F Fwm o g

(3) ¥R = T A F FEo A g
(4) ?m%mﬁ%ﬁﬁnﬁﬁlﬁ

“sit =fr STa ¥ FH-B-FW 25 991 A w©
% & e 38 Sma-yfn o el
T arell Il W Afuwn ) 7R SR
e g fen T 27

(1) v s srfufem, 1927
(2) e v sfufEm, 2007
(3) W At wfufem, 1894

(4) @fwm  (orggfm )
(wvireq) fadas, 2012

ElEtl

frerfefaa # @ w=d W $em I
%1 gg=d -9 87

(1) waifen, THo g do-TgH, I
(2) THo o Ho-TZH, &, S
@) ¥, weifen, Fgfen

(@) Trard gaw, ¥, e

(1) a3 7 o T ¥

(2) e, FR-THE i @l H A
} ST @ S R

@) FR-TAE B e FA F
=1 AT ) et R 8

4) mﬂg%’tﬂ-ﬁ'ﬁ%ﬁﬁﬁmm%
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# o
TR
72. Which of the following sets of | 72 ﬁﬁq?m # gran 27
eatables is rich in iron? o 5
(1) witaet, T, HEL

(1) Amla, Spinach, Potato

(2) Amla, Potato, Tomato (2) Fae, are], T

(3) Cabbage, Okra, Jaggery (3) s, fost, T8
(4) Amla, Spinach, Jaggery (4) itaen, 9w, I
73. Almost in every part of our country, 73. TR & Al Tsfi gyl # B @
chillies are added while cooking " iy i g A e S E}I TR 2
food. Chillies were brought to our gt 3 &
country by the traders who came ﬁﬂéaﬁaﬁaﬁ'
from : (1) oo ﬂﬂﬁmﬁ
(1) South America ' ) rea A
(2) Afghanistan @ a
(3) Australia
(4) FAfHEE ki
(4) Uzbekistan
o o & @ Sw-w Oah w99 F
74. Which of the following birds makes 74. B 2
its nest among the thorns of a et & ot AT g
cactus plant? (1) =
(1) Weaverbird 2 R
(2) Robin bird
(3) IR
(3) Dove
(4) wERET
(4) Sunbird
: * % = T ==t
75. Read the following description of an = ?; :1'?( :mﬁm' & ﬁqm{
animal and identify it : e R CEUCLE
“It looks like a bear but it is not. g e, e o @ gog Wil T B 7
It spends almost 17 hours a day @ & T 17 W2 g& i Tmae ¥ 39
sleeping while hanging upside down wehet g 21 98 B 38 | @@ 2 3
on a tree branch. It eats the leaves # ofat @ 2 T® ST 40 =6 9F
of the same tree on which it lives. It e T
lives for about 40 years.”
(1) Chimpanzee (1) et
(2) Panda (2) ¥
(3) Sloth (3)
(4) Langur (4) @R
P-1/EE* 28
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76.

77.

78.

P-1/EE*

Which of the following groups of
animals has excellent sight and can
see things four times more than
humans?

(1) Snakes, Silkworms, Lizards
(2) Kites, Eagles, Vultures
(3) Bees, Mosquitoes, Butterflies

(4) Tigers, Leopards, Bulls

Read the given description
farming and identify its type :

“After cutting one crop, the land is
left as it is for some years. Nothing is
grown there. The bamboos or weeds
which grow on that land are not
pulled out. They are cut and burnt.
The ash makes the land fertile.
When the land is ready for farming
it is lightly dug up, not ploughed.
Seeds are dropped on it.”

of

(1) Jhoom farming
(2) Step farming
(3) Irrigation farming

(4) Cooperative farming

When a snake charmer plays on
his musical instrument Been, the
snake swings its head to and fro to
its sound. How do you think the
snake responds to the musical
instrument?

(1)
(2)

By smelling the instrument

By hearing the sound produced
by the instrument

By seeing the movement of the
instrument

(3)

By responding to the vibrations
produced by the instrument

(4)

29
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76. A Ry o et b W § ¥ fe 3R

i 8

78.

A8 et R don  wgsdt R gen F =R TR
st 30 1 T A T 8

(1) @lg, Wm-Fe, Buweh
(2) e, s, fig
(3) wywHel, =, foraeht
(4) =, dgen, |ig

9 fr o Ed FA F e Foafle ek
39 B &I IgEH HINT

T FHE F FeA F IEG @A B GO
791 ¥ fore @eh Brg R s ) wd g
oft =t I s R @ o # |fa @ s
WYAER, s ft FB I @ R, IR @
T a1, FEH S o S 81 9 @
uft # IR ¥ vm wr qfr odt
e dar @ S R, 7@ @ Tew-a @E
s 8, gt A S T s efv o sw W
et fosgs g wma 817

(1) T ad

(2 Hgm ah
(3) f=rd @it
(4) wEHKT @t

S s WUU A AT A S H A g,
A |iT IR | W T R F -
guTa 21 9 e @ i e a3 & wR
T S o @ R7

(1) 34 a9 99 & o

(2) 39 T 79 Hi @R F IR

(3) 3| T 93 i Ty N T@w

(4) W TM 49 FW IO FEAT & U

ST 5
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79. “A family is a unit consisting of

mother, father and their two
children.” This statement is :
(1) incorrect, because there are

many kinds of families and one
cannot classify family as being
of only one kind

(2) correct, since this is an ideal
family size

(3) correct, because this is what all
Indian families are like

(4) incorrect, because the
statement should specify that
the children are biological

80. The gastric juice in the stomach of
human beings is and aids in
the digestion of food.

(1) neutral

(2) acidic

(3) alkaline

(4) amphoteric

Bl. A teacher of Class Il had asked
children to classify the leaves of the
following trees/plants into different
groups—Ilemon, mango, basil, mint,
neem, banana, etc. Some students
classified leaves as (a) leaves with
medicinal values and leaves without
medicinal values, (b) big leaves and
small leaves. The teacher marked
group (a) as right and group (b) as
wrong.

Which of the following statements

reflects the teacher’s view of learning

and assessment?

(1) Children bring multiple
perspectives in classroom which
is to be appreciated.

(2) Children can use multiple ways
of classification depending upon
their experiences.

(3) Classification task is very
specific and structured and
there is one right answer,

(4) The activity is focussed to seek
information from leaves which
can be interpreted differently,
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30

80.

81.

qﬁanmsmr{m?mﬁqrmm,
ﬁﬁﬁ?ﬁﬁl':ﬂﬂﬁm:ﬁ |
ﬁarﬁamrﬁﬂfammm

) W?ﬂﬁﬂ?ﬁmmwm

et 5 o # s @ A
mgm%ﬁm?ﬁwumm

4 2
Fa1 Ul F UF EE 3 AW A= @
frefefiaa 4gi/dt 1 afwdi #1 fafe i
i wfiga 3 # Fo H—E, am,
qedt, gé, fim, Fen @l F et
3 oft @ Fffwr 3@ TR -
(@) @3 % oI Al vl S s F
™ F Wea ufwdl, () 79 afwEl @I
ufeal| g 3 98 (@) 1 W A ok
TR (b) F T |
Frafafas s § 4 FR-T1 F99 A
i arker ¥ ufa fas ¥ ghwm 9
wfafafea = 27
(1) == 9gd ¥R ¥ "ol = Fa1 7 §
1 8, P woen 26 =i
() 7 FpEl w ol F@ o =
THF F aga-¥ qldt F1 39@m =
THd |
B) ¥ F1 Fm wgw fafe o
WAFT } a1 gH £
B B} ekl
(ﬂﬂaﬁvmmwmgmmw

R a2, Forew frm ol o 1
Hehal B\



82. Which

83.

: among the following
considcrations would you keep in

mind while designing a group
activity in your EVS class?

A. Engage the interests of the
children.

B. Appeal equally to boys and girls.

C. Use expensive material.

D. Ap_pgal to children of all
rcligious and cultural
backgrounds.

(1) A, B and D

(2) A, C and D

(3) Band D

(4) Band C

All of the following statements

provide arguments in favour of
teachers and students to collectively
engage in group activities in EVS,
except ome. Which is that
statement?

(1) Children learn more by talking

and discussing with other
children.

(2) Children show marked
improvement in scores because
of group activities.

(3) Adult support can help children
construct knowledge beyond
their ability.

(4) Children learn to collaborate

and cooperate.

82.

83.

mnn EERINNDIA

e s i oawh we § wgE
Torared o1 Frio e g eamy fr=ffan
foraml & |/ oo e @y

A. == 6 T = wE fn

B. wedl R wefwl # wim wu ¥
Fiaat @ |

C. Tail Hegaw wwh il A

wh wfls sk weh =
a=it ) o L

(1) A, B¥RD
(2) A, C3RD
3) B3 D
4) B3mC

o

frfefas @t Fo wiww weEE R

m@mmﬁﬁmmﬁﬁﬁanﬁmaﬁ

R FrenfiE ¥ um d OF T A

¥aq TH wUA W Ogw| T FH

HH-T1 -7

(1) 7= @ A= A A M FA W
afires HrEd €1

2) Hﬂ@‘ﬁﬂmﬂmﬁﬁm
Tqeifa & o701 gUR eRid Fd 1
R T % tww § weea e
il

(4) T2 WER GEE SR wedm FA
@ 2

4 & T AvEE AR a=

: i 84. HTE
84. Which of the following tools w1lltbe y ! sl g
appropriate for assessing s_ocml- g - ATt maﬂ ED maraq ED
personal qualitics ~ of children foru frfafea o g7 0 AT
engaged in lcarning EVS through Wﬁ""?
group work? ) ) -
(1) Pnpcr-pcnc.:l tests P mi
(2) Oral questions i i
(3) Rating scales Fuftor Aol
(4) Assignments 4) TaFA
pP.T.O.
P-1/EE* 31 [
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85. F ollowing are some intuitive ideas of

86.

87.

childrt?n about plants. Which of
them is Scientifically correct?

(1)
(2)

Seeds are not parts of a plant.

Carrot and cabbage are not
plants.

(3)
(4)

Grass is not a plant.

Some vegetables are fruits.

A teacher of Class IV told her
students—“Ask some old people if
there were plants they had seen
when they were young but are not
seen these days.”

\thich of the following skills is not
likely to be assessed by asking this
question?

(1) Questioning
(2) Expression
(3) Experimentation

(4) Discussion

A teacher asks every child to use
some waste material from their

homes and make something useful
out of it.

The pedagogical intention of the
teacher is not to :

(1) judge the best student of the
class

(2) develop creativity among

children

(3) make children understand the
concept of recycle, reuse and

reduce

(4) organize an exhibition of best
articles made out of waste

P-1/EE*
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8s. f3 el F ar T T F

86.

87.

s o @ e &7

S 12

fo mr & T A ey

(1) <o foret o = ferm T AR

{3} ‘qquﬂ'%l

Fan IV § T RifEw ¥ o Rl g
mﬂ"ﬁ;a@@z?ﬁﬁ%%@qﬁﬁm
3 wEF 9 @ 1 IE TO W@ DA 3
S arerra ¢ Rar w1’

Ifw v % @ I R Fefale § 3
g AT F IR B T TE 7

(1) W&
(2) vt
(3)
(4) ==

 figs T T W o u R -
et ¥ $O ST SEg AW B Fea B

e o1 fare ifimm Tt R
(1) % % %8 frareff % =) § fola =@
(2) w= B gomierar &1 fem Fe

(B) o= B qwEmw, gAwEm
TR ) FHIA I

4) % A T Jm aged H w
e F



88. Read the following questions :

89.

90.

A. How well did I plan for the
activity?

B. How well did I follow the plan?

C. What were my strengths?

D. What exactly did I find difficult?

Answers to the above four types of
questions will comprise :

(1) summative assessment by the
teacher

(2) children’s self-assessment
(3) teachers’ self-assessment

(4) self-assessment of children and
teachers both

The language used in an EVS

textbook :
(1) should be technical and formal

(2) should be related to everyday
language of the child

(3) should be terse and difficult for
children to comprehend

(4) should be formalized with
emphasis on definitions

A teacher gives pictures of different
animals to his students and asks
them to colour the animals that do
not live in their houses. The
objective of this activity is to
develop :

A. creativity

B. observation

C. classification skill

D. data collection

Which of the above are correct?
(1) A, Cand D
(2) A, Band C
(8) A, Band D
4) B, C and D

P-1/EE*
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88. F=ffEa ywl +1 uiRe :

89.

90.

A. R framrem & diemn et st
CE1]

B. #1 4 # g fEam e
fFn?

c. G witeat @ ff?
D. H3 9N S 1 @m?

sm Ry T AR wER F wwt F 7 @
BT

(1) fRvereh g1 GHI ST

(2) ==l & -

(3) Tl 1 @-3mwe

(4) ==t iR Fer, A1 1 = -SrmeeH

ey e R USH-YEE HOUgE

I

(1) e af sfefe B =i

(2) == f fa-wffa fi o 4 =g
Bt =Ry

(3) wE iR s F gR wwee § HeA
B =

(4) wRTIeT W 9 S §U Uik S
ST =R

e e o frenfid A fftem et &

o T @ @R 37wyl W0 W R Fa@

T S e i A A wd | 3w PR

R

A. GSATCHEA! Wl A HAT

B. TEeeA o1 e s

C. afietur e 1 T e

D. Tl 4 H o HE

35w § A -7 Al 87

(1) A, C3RD

2) A, B3RC

(3) A, B3WD

(4) B, C3RD
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PART—IV

&mmmnm

Language—I
ENGLISH

IMPORTANT :

Candidates should attempt ques
91 to 120), if they have opted ENGLISH as Languag

jons from Part—IV (Q.

Directions Answer the following
questions (Q. Nos. 91 to 105) by selecting
the correct/most appropriate options.

91. Home language is in a natural
way.

(1) promoted
(2) acquired
(3) learnt
(4) taught

92. Which of the following is not true
while teaching the learners in their
mother tongue at primary level?

(1) It helps children in learning in
a natural environment.

(2) It develops self-confidence in
the child.

(3) It makes learning easy.

(4) It is helpful in the intellectual
development of the child.

93. Communicative language teaching
lays emphasis on :

(1) grammatical competency

(2) language use

94.

95.

96.

97,

f Class I, ig
Ria, a teacher o6 .
presenting Janguage items In her
instructions and the_ lcarpers are
doing exactly as she is t:;:l].mg them
to do. What is she practising?

(1) Total physical response
(2) Direct method
(3) Audio-lingual method

mmunicative language
4] <o method

While teaching language to learners,
a teacher should teach :

(1) by giving instructions
(2) through imitation
(3) in isolation

(4) in an integrated manner

An intonation may not be a
tone.

(1) sliding
(2) rising
(3) falling
(4) loud

stands for
grammar in/

Functional grammar
using / teaching
through :

(1) explanation of literary content
(2) context

Al s (3) isolation
(4) writing (4) parsing
P-1/EE* 34
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98. A

teacher asks the learners to think

of ideas quickly about th i

‘ ’ e topic :
Save Water apd also asks thefn to
note down their ideas before writing

the article on ‘Sa
¢ ve Water’ i
focussing on : er’. She is

(1)
(2)
(3)
(4)

brainstorming
assessment
checklist

drill

99. Which of the following is not a form

of
(1)
(2)
(3)
(4)

100.
(1)
(@)
(3)
(4)

literature?
One-Act Play
Dictionary
Memoir

Travelogue

Assessment is :

judgemental
product-oriented
process-oriented

both process- and product-

oriented

101. Which of the following is not
formative assessment?

(1) Term-end assessment
(2) Anecdotal records
(3) Portfolios
(4) Oral testing
102. A teacher asks the students

to assess their classmates during
a debate competition n

the class.

This method of assessment is :

(1
(2)
@)
(4)

individual assessment
peer assessment
self-assessment

group assessment

P-1/EE*
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104.

103. Match the following :

Types of

assessment
(a) Assessment
of learning

(b) Assessment
for learning

(c) Assessment
as learning

Meaning

(i) It is used during the
process of learning
and teaching.

(i) It is wused when
students reflect on
and monitor.

(iii) It is used towards
and at the end of the
instruction period.

() a b ¢
i i ii
(2 a b c
il i il
@ a b ¢
i i il
@4 a b ¢
i il i
Which of the following is mnot

appropriate about language games?

(1)

(2)

(3)

(4)

(1)

(2)
(3)

(4)

Language games create a stress-
free and natural environment
where learners can learn
English, the way they learnt L 1.
Language games create an
environment even for the shy
learners to participate.
Language games provide
competitive environment to the
learners to win the game by
any means.

Language games create a real
world context in the classroom
and enhance the usage of
English.

105. Remedial teaching is for :

improving the image of the
school

the learner to learn better

the learner to learn better and
the teacher to improve his/her
teaching

the teacher to teach better

[ P.T.O.



Directions Read the passage given
below and answer the questions that
follow (Q. Nos. 106 to 114) by selecting
the correct/most appropriate options.
The Mahatma's remarkable wife,
Kasturabai, did not object when he failed to
set aside any part of his wealth for the use
of herselfl and their children. Married in
early youth, Gandhi and his wife took the
vow of celibacy after the birth of several
sons. A tranquil heroine in the intense
drama that has been their life together,
Kasturabai has followed her husband to
prison, shared his three-week fasts, and
fully borne her share of his endless
responsibilities. She has paid Gandhi the
following tribute :

I thank you for having had the privilege
of being your lifelong companion and
helpmate. [ thank you for the most
perfect marriage in the world, based on
Brahmacharya (self-control) and not on sex.

I thank you for having considered me your |

equal in your lifework for India. I thank
you for not being one of those husbands
who spend their time in gambling, racing,
women, wine, and song, tiring of their
wives and children as the little boy quickly
tires of his childhood toys. How thankful
I am that you were not one of those
husbands who devote their time to growing
rich on the exploitation of the labor of
others.

How thankful I am that you put God and
country before bribes, that you had the
courage of your convictions and a complete
and implicit faith in God. How thankful
I am for a husband that put God and his
country before me. I am grateful to you for
your tolerance of me and my shortcomings
of youth, when | grumbled and rebelled
against the change you made in our mode
of living, from so much to so little.

P-1/EE*
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As a young child, I lived in your parentg’
home; your mother was a great and gooq
woman; she trained me, tau.ght me how
to be a brave, courageous wife and how
to keep the love and respect of her son,
my future husband. As the years passed
and you became India’s most beloved
leader, I had none of the fears t'hat beset
the wife who may be cast aside when
her husband has climbed the l:‘adder of
success, as so often happens 1n other
countries. 1 knew that death would still

find us husband and wife.

106. How did Kasturabai react to
Gandhiji’s will?
(1) She felt quite unhappy.
(2) She was astonished.
(3) She accepted his decision
without arguing,.
(4) She decided to discuss the

matter with her parents.

Kasturabai impressed the author
most because she :

107.

(1) was an embodiment of humility

(2) never questioned her husband’s
decisions -

(3) was at his beck and call

(4) stood by him through trying

times

36



108. Husbands given to vices made | 112. The word opposite in meaning

Kasturabai :
sturabai feel : to lifelong’ is :
(1) disgusted

(1) weak
(2) furious

(2) ardent
(3) unhappy

3) tempor
(4) sad { o

(4) brief

109. Kasturabai’s relationship with her

mother-in-law can be described as :
113. Which part of speech is the

(1) respectful underlined word in the following
sentence?

« .. any part of his wealth.”

(2) formal
(3) conventional - () Conjunction
4) informal

(2) Adjective

110. The author’s attitude to Kasturabai (3) Adverb

is :

(4) Noun
(1) sympathetic
(2) commendatory

114. The sentence, “Some husbands

spend their time in gambling’
when changed into passive voice

(3) neutral
becomes :

(4) ambivalent
(1) Some husbands whose time was

spent in gambling.

111. The word 4ranquil’ as used in the
pasene st (2) Some husbands spent their
time in gambling.

(1) loyal
(3) Time is spent in gambling by
b B some husbands.
(3) gentle o
(4) Some husbands whose time 18
(4) calm spent in gambling:
P-1/EE* 37 [ P.T.O.
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Directions Read the extract given
below and answer the questions that
follow (Q. Nos. 115 to 120) by selecting
the correct/most appropriate options.

I cannot rest from travel : | will drink
Life to the lees : All times | have enjoy’d
Greatly, have suffer’d greatly both
with those
That loved me, and alone, on shore,
and when
Thro’ scudding drifts the rainy Hyades
Vext the dim sea : | am become a name;
For always roaming with a hungry heart
Much have I seen and known; cities
of men
And manners, climates, councils,
governments,
Myself not least, but honour’d of
them all;

115. The speaker can be described as :
(1) a frolicsome person
(2) a vagabond
(38) a seeker after the truth

(4) an adventurer
116. The expression, ‘drink life to the
lees’ means :
(1) to live life to the fullest
(2) to live a life of pleasure
(3) to face challenges bravely

(4) to live a life of adventure

P-1/EE*
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117.

11B.

119.

120,

&MEHIHBIH

Which of the following statementg

is true?
He has lost interest in life.

(1)

(2) The speaker is
wanderer.

an aimlesg

His adventures have ngt

(3) changed his outlook.

He has suffered and enjoyeq

(4)
greatly.

i least, byt
line, “Myself nEt
E};gour’d of them all” reveals that

the speaker is :

(1) arrogant

(2) prohe to bragging
(3) a garrulous person

(4) conscious of his merits

The figure of speech used in ‘drink
life to the lees’ is :

(1) assonance

(2) simile

(3)

metaphor

(4) personification

Which literary device has been used
in ‘hungry heart’?

(1) Irony

(2) Assonance

(3) Simile

(4) Alliteration



HEEqUl : G Wm—Iv (So Ho 01 W 120) ¥ W ¥ I Faw@ @ ¥ AR TR wra—1 H
e o=t g &)

B : H9 Ry o st (v do 91 @ 105) F
T/ 9w IW A Beres # g

91.

92.

93.
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95.

96.

o’ e ¥ fou FR-m sy
e 7E _7

(1) SUHIET 916 HW FH BT

(2) FAH WA FH BRI

(3) I I GLEAT < AR

(4) TS Feg
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B R
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(1) =weEd ¥ uie

(2) vHTen Fi sHEGAT H §H

(3) wgwEd A vEuH

(4) faft & viem

[ P.T.O.



97. Wi 3 few ¥ wavt 6 =i § ool €

98.

99. wuftw W W w-Ram F gef F

(1) fewr
(2) =iw=R
(3) amEe=hl
(4) s

fagrd & of 3 3} qfar ¥ wewl @
Y P R B 3 m d o @ W
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PART—V

Language—II
ENGLISH

IMPORTANT

~ Candidates should attempt questi
121 to 150), if they have opted ENGLISH as Language—1l

jons from part—V (@

Directions

Answer the

following

questions (Q. Nos. 121 to 135) by selecting
the correct/most appropriate options.

121.

122.

123.

Language is not :
(1) social

(2) arbitrary

(3) symbolic

(4) instinctive

When language development is
a deliberate and conscious effort,
language is :

(1)
(2)
(3)

brushed up
learned
acquired

(4) honed

What is a ‘task’ in task-based

language learning?

(1) A piece of work for the parents
to do their children’s homework

(2) A piece of activity for teachers
to do in the classroom

(3) A piece of work which cxpoées
learners to language

(4) A piece of work which enables
learners to do an activity

P-1/EE*
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124. Travelogue is

125.

126.

44

a genre Oof :

(1) bibliography
(2) literature
(3) poetry

(4) criticism

e most I ct of
Th t important aspe :
ffective language classroom is
an € :

to provide learners
opportunity to :

(1) interfere

(2) assess

(3) imitate

(4) interact

A teacher of Class V is practising
4nteractive listening’ in the class.
She should focus on :

listening to word stress and
intonation

(1)

(2) listening to the pronunciation

(3)
(4)

listening and responding

listening and
speakers’ attitude

observing



iati 130. Poetry teaching is generally meant
Pronunciation gg another, but with for

(1) learning punctuation

(2) antonym (2) enjoyment and appreciation

(3) Synonym -
(3) language learning
(4) hOmonym
(4) learning grammar

128. A shorter form of a group of words,
which usually occurs in an auxiliary

verb. is -
SR ¢ second

131. Reading English as a
(1) connector language means :

(2) contraction (1) reading for grammar

3) conjunctio _
: JHnction (2) meaning making

(4) connotation
(3) decoding of letters and words

129. Aditi, a visually challenged child in :
Class IV, does not have any text in (4) reading aloud
braille. How can a teacher facilitate
her in reading the English textbook?

(1) Instead of focussing on this 132. When learners give feedback on

single child, she may use each other’s language, work,
her energy in teaching the learning strategies, performance,
remaining class. etc., it is called :

(2) She may ask her parents to look

after their child. (1) group assessment

(3) She may ask tpc principal to (2) self-assessment
arrange a special teacher for
her.

(3) peer assessment

(4) She may arrange and give the
audio CD of the textbook to the

child.

-I/EE* 45 | P.T.O.

(4) formal assessment
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L0 Ateacher alter completing o chiupter
ankn the wtndents wome quentionn
Woreview thelr learndng and check
their vnderntanding. The quentionns
ahe s anking will be baned on

(0 hyperovder thinking nkills

() higher order thinking nlkilln
(3 middle-order thinking sakills
() lower order thinking aldlls

134, A good teaching learning materinl

(TLM) can best

(1) help the teancher to
transact materinl without any
modification

(2) help  the learners  acquire
a language

(3) facilitate the teaching-learning
process

(4) be a source of entertainment

135. While providing feedback to the
parents, a teacher should not
(1) share the incidents recorded in
the anecdotes

(2) compare their child with other

children

(3) compare the current performance
of the child with her previous
performance

(4) give qualitative feedback about
the child

P-1/EE*
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) HREe  piven
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mu:'tlmllll 'ml:‘:w_] the quentiongs thint
halow ANt 136 (0 143) by welecting
follow (€. Now rlute options

the correot/mont approp
o Madhubani painting In the
l

il )
" loped in the Mithilg

The
- eve
traditional uiyle d

. cdhubani
around Mn i
he villapen

reglon, In |

Iihar, Madhubar

ol honey, Thin nly

)i liternlly menns i foren
le of painting hans been

the women of the

traditionnlly uned hy

" » plno involve
reglon, though fodny men are al 1
h ]

work i8 done

™) N
(o meel the demand, The

! ¢
on freshly plastered mud  walls,  For

i eing done
l'lllllllll"l‘('illl l)“rr"”i(-!l' i s now I) ing IJH.

on paper, cloth, ete.

The paintings are basically of religious
nature. They are done in the special rooms
of their homes (in the Pooja room, ritual
area, bridal room), on the main village
walls, etc., for ceremonial or ritualistic
purposes. The women offer prayers to the
deity before starting the work. Figures from
nature and mythology are adapted to suit
their style. The themes and designs widely
painted are the worship of Hindu deities
such as Krishna, Rama, Shiva, Durga,
Lakshmi, Saraswati, Sun and Moon, Tulsi
plant, court scenes, wedding scenes and

other social events taking place around
them,

Floral, animal and birq motifs, geometrical
designs are used to

fill up all the gaps.
There is hardly any

empty space in this

46



style. Cotton wrapped around a bamboo
stick forms the brush. The colours applied
are prepared by the artists. The skill is
handed down the generations, and hence
the traditional designs and patterns are
widely maintained. It is believed that
the genesis of Madhubani paintings came
about when King Janaka asked for

paintings to be developed for his daughter
Sita’s wedding.

136. Madhubani paintings are no longer
done exclusively by women on
walls :

(1) because cloth is more durable

(2) to meet their widespread
demand

(3) as men are better painters

(4) as paper is cheaper

137. Madhubani paintings are essentially

of religious nature when they are
done :

(1) in the Pooja room
(2) in the bridal room
(3) on the village walls

(4) using figures from nature

P-1/EE*
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138. These paintings become

139'

140.

secular
when they depict
court scenes

(1)

(2) worship of Saraswati
(3) Tulsi plant

4) wedding scenes

A Madhubani painting shows only :

(1) a balanced portrayal of all of
them

(2) Hindu deities

(3) flowers and plants

(4) geometrical designs

The art of Madhubani painting is
learnt in the :

(1) Ashrams of Madhubani

(2) schools of art

(3) families at home

(4) homes of renowned artists

| P.T.O,



141. Floral’ is an adjective derived from
the noun, ‘flower’. Aural is derived
from the noun :

(1) mouth
(2) morning
(3) ear

(4) eye

»

142. *“... on freshly plastered mud walls.

The word ‘plastered’ is a/an :
(1) particle

(2) gerund

(3) infinitive

(4) participle

143. The word ‘genesis’ means the

same as !
(1) growth
(2) birth

(3) original

(4) spirit
P-I/EE* 48
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. Read the PassaE give,
Directions * r the questions thy,
below an aﬂs;’*’& to 150) by selccting

follow (Q- h}i.ost approprlﬂte options,

the correct " ‘
kable feature of Edison’s Inventiong

a .
A remar mplicity- There werq

; ic si
eir basic d
was th . ntists possessing deep
merable scient1s
u

ctricity, chemistry, etc,
hooled genius whg
failed. What were

inn
knowledge of ele
put it was this unsc

they
succeeded where :
his uniqueé qua.lities? Firstly, he had ap

uncanny ability to judge the practical use

of any scientific fact. Secondly, he wag

with patience and perseverance,

d
leap= eas till he

He would try out countless id
found the right one. Third was his business

acumen, which enabled him to earn the

large sums of money necessary to conduct

experimental work.

Edison’s enthusiasm for work and

optimistic attitude ensured a long and
productive life. Only after crossing the age
of seventy-five did he start slowing down.
During his final illness, his curiosity about
his condition, medicines, and treatment,
made the doctors think that possibly
he was taking this too as one of his
scientific investigations | He passed away
on 18 October, 1931, at the ripe old age of
eighty-four.

During his lifetime itself Edison became
one of the most famous men in the world.
Honours were showered on him. Among
them was the congressional gold medal in
1928 for his contributions to human
welfare. In 1960, he was posthumously



T ) A i——

switching off the power su

PPly in New York,
the scene

. of his triumph in 1882, for two
minutes as a mark of respect on his death.
But 1931 was not 1882. Since normal life
would have come tg g standstill by the
two-minute power cutoff, the idea was

given up. There could be np greater tribute

to the man than thijg negative tribute !

144. The most r

: 'L Temarkable feature of
Edison’s iny

entions was their :

(1) aesthetic aspect
(2) fundamental simplicity

(3) multiple usefulness

(4) low cost

145. According to the author, Edison

became prosperous because he :
(1)
(2)
(3)
(4)

had luck on his side
worked very hard
made the best use of his time

had great business sense

146. To conduct experimental work,

Edison needed :

(1) sophisticated gadgets

(2) support of generous patrons
(3) huge amounts of money

(4) calm and quiet atmosphere

P-1/EE*

Scanned by CamScanner

147. Edison’s long and productive life can
be attributed to :

(1) his immensely good health
(2) a large circle of friends

(3) his involvement in charitable
work

(4) his positive attitude

The word ‘uncanny’ as used in the
passage means :

148.

(1) weird

(2) great

(3) terrific

(4) astonishing

149. The opposite of famous’ is :

(1) unnoticeable
(2) unpopular

(3) unknown

(4) negligible

150. Which part of speech

underlined word?

is
“... any scientific fact.”

(1) Preposition

(2) Noun

(3) Adjective

(4) Adverb

49
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1. The manner in which

STRUCTIONS CAREFULLY ;

READ THE FOLLOWING IN

Handle the Test Booklet and Answer Sheet with

. Candidates are not allowed to carry any textual

. Mobile phones, wireless communication devices

the different questions are tg
d has been explained u; l;.heb ';l:est
be ﬂlm:“':rr}fich you should rf:ad carefully before
ot i e guestions.
actually m}sw:r;?tir:;ti?es for caph qu csgon}.‘ only
Out o_f lhcro}']the correct answer is to be 211: eneq
iow clrcl:; u:,vit_h Black/Blue Ballpoint Pen oy
complete[::hc OMR Answer Sheet. T‘};e AanSWET once
Slde]fdois not liable to be changed. .
B idates should ensure that the Answer
The candi tafolded. Do not make any stray “ﬁarks
Sheet is “C'wcr Sheet. Do not write your Roll No,
ot T]ﬁe?cnilsc except in the specified space in U_\e
anyv

Answer Sheet.

ircumstances (except for
Si'm' aasnc;ru}ge{‘esr:oBocoklct Code or Nun'l.?f:,ﬁ\!;d
Alg::vccl:- Sheet Code or Number), another set will be ]

rovided.

ghe candidates will write the _corrcc!.nTcs;th CBM_}%E‘ [
Code and Number as given cll e Shcetsl
Booklet/Answer Sheet in the Attendance Sheet.
A machine will read the coded _ml‘ormagg;l? 9‘1}? u-]m
OMR Answer Sheet. Hence, no mfnrmabl L ould
be left incomplete and it should nc:u:.i e Cl eé-em
from the information given in the Admit Card.

i i i its of papers, pager
terial, printed or written, I:nt? o q
ngnc pﬁonc, electronic c_iev:ce or any other
material except the Admit Card inside the
Examination Hall/Room.

(even in switched off mode) and the other lyamyed
items should not be brought in the E:ga_mmahon
Halls/Rooms. Failing to comply with this
instruction, it will be considered as using unfair
means in the examination and action will be taken
against them including cancellation of examination.

Each candidate must show on demand his/her

No candidate, without special permission of the
Centre Superintendent or Invigilator, should leave

The candidates should not leave the Examination
Hall/Room without handing over their Answer
Sheet to the Invigilator on duty and sign the
Attendance Sheet twice. Cases where a candidate
has not signed the Attendance Sheet sccond time
will be deemed not to have handed over the
Answer Sheet and dealt with as an unfair means

e also required to put
mpression in the space
ance Sheet,
Use of Electronic/Manual Calculator is prohibited.

governed by all Rules and
f the Examining Body with regard to
their conduct in the Examination Hall/Room. All

be dealt with as per
Rules and Regulations of the Examining Bﬂd}f

st Bookle@ and Answer Sheet shall
der any Circumstances,
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